Project Name: Pavement Resurfacing - Yerba Buena & Spec. No. RD19-07 Hidden Valley Areas Abstract of Bids opened on: March 26, 2019

ENGINEER'S ESTIMATE: 285,000.00

| LOW BIDDER - Manhole Adjusting Inc. Pico Rivera, CA 90660 | 418,229.65 |
|--|------------|
| 2nd Bidder - All American Asphalt Corona, CA 92879 | 434,225.22 |
| 3rd Bidder - VSS International, Inc. West Sacramento, CA 95691 | 455,120.00 |

The undersigned certifies that the bids abstracted above were received on beha of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bigs; were publicly opened and read; and were checked.

Director, Engineering Services Department

Copies: Director PWA, PM:Pete Wessel, Yvette Perez, ESD File

BID ABSTRACT

COUNTY OF VENTURA - PUBLIC WORKS AGENCY

Page 1 of 2

(8)

1

| 01071 | DSTRACT | | | | | | | | |
|---------------------|--|------|---------------------------------------|------------|------------|-------------------|------------|-------------------|--------------|
| Bids o | pened on: March 26, 2019 | | | ENGINEER'S | ESTIMATE | LOW BIDDER | | 2nd Bidder | |
| Projec | t Name: Pavement Resurfacing - Yerba Buena & | | | | | Manhole Adjusting | g Inc. | All American Aspl | |
| Hidden Valley Areas | | | | | | 9500 Beverly Roa | d | 400 East Sixth St | reet |
| | , | | | | | Pico Rivera, CA 9 | 0660 | Corona, CA 9287 | Ð |
| | Spec. No. RD19-07 | | · · · · · · · · · · · · · · · · · · · | | | | | 1 | |
| ITEM | | | | | | | TOTAL | | TOTAL |
| NO. | ITEM | UNIT | QUANTITY | | TOTAL | UNIT PRICE | TOTAL | | |
| 1 | Mobilization | LS | 1 | 23,308.00 | 23,308.00 | 67,700.00 | 67,700.00 | 77,336.34 | 77,336.34 |
| 2 | Traffic Control and Construction Signing | LS | 1 | 21,000.00 | 21,000.00 | 16,950.00 | 16,950.00 | 23,632.98 | 23,632.98 |
| 3 | Water Pollution Control | LS | 1 | 5,000.00 | 5,000.00 | 2,000.00 | 2,000.00 | 1,343.79 | 1,343.79 |
| 4 | PCC Curb & Gutter | LF | 75 | 45.00 | 3,375.00 | 78.75 | 5,906.25 | 137.93 | 10,344.75 |
| 5 | PCC Driveway Approach | SF | 120 | 20.00 | 2,400.00 | 24.15 | 2,898.00 | 22.95 | 2,754.00 E |
| 6 | PCC Sidewalk | SF | 476 | 16.00 | 7,616.00 | 18.90 | 8,996.40 | 25.53 | 12,152.28 |
| 7 | PCC Curb Ramp | EA | 2 | 2,500.00 | 5,000.00 | 6,195.00 | 12,390.00 | 6,053.10 | 12,106.20 |
| 8 | PCC Cross Gutter & Spandrel | SF | 480 | 20.00 | 9,600.00 | 23.10 | 11,088.00 | 42.87 | 20,577.60 |
| 9 | Percolation Trench | LS | 1 | 3,500.00 | 3,500.00 | 11,000.00 | 11,000.00 | 9,239.26 | 9,239.26 |
| 10 | Asphalt Rubber Aggregate Membrane (ARAM) | SY | 24000 | 4.80 | 115,200.00 | 7.48 | 179,520.00 | 6.67 | 160,080.00 |
| 11 | Type II Emulsion-Aggregate Slurry | SY | 24500 | 2.80 | 68,600.00 | 2.84 | 69,580.00 | 2.80 | 68,600.00 |
| | AC Curb Seal | LF | 1600 | 1.50 | 2,400.00 | 2.50 | 4,000.00 | 2.41 | 3,856.00 |
| 13 | Pavement Delineation & Striping | LS | 1 | 18,000.00 | 18,000.00 | 26,200.00 | 26,200.00 | 32,201.02 | 32,201.02 |
| 14 | Release on Contract | LS | 1 | 1.00 | 1.00 | 1.00 | 1.00 | 1.00 | 1.00 |
| | TOTAL | | | 3 | 285,000.00 | | 418,229.65 | | 434,225.22 A |

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified b bidder

Copies: Director PWA, PM:Pete Wessel, Yvette Perez, ESD File

COUNTY OF VENTURA - PUBLIC WORKS AGENCY

.

| Bids o | pened on: March 26, 2019 | 3rd Bidder | | | |
|--------|--|---------------------------|------------|--|--|
| Projec | Project Name: Pavement Resurfacing - Yerba Buena & VSS International, Inc. | | | | |
| Hidde | n Valley Areas | 3785 Channel Drive | | | |
| 10 | | West Sacramento, CA 95691 | | | |
| | Spec. No. RD19-07 | | | | |
| ITEM | | | | | |
| NO. | ITEM | UNIT PRICE | TOTAL | | |
| 1 | Mobilization | 17,577.55 | 17,577.55 | | |
| 2 | Traffic Control and Construction Signing | 59,870.00 | 59,870.00 | | |
| 3 | Water Pollution Control | 8,150.00 | 8,150.00 | | |
| 4 | PCC Curb & Gutter | 78.75 | 5,906.25 | | |
| 5 | PCC Driveway Approach | 24.15 | 2,898.00 | | |
| 6 | PCC Sidewalk | 18.90 | 8,996.40 | | |
| 7 | PCC Curb Ramp | 6,195.00 | 12,390.00 | | |
| 8 | PCC Cross Gutter & Spandrel | 23.10 | 11,088.00 | | |
| 9 | Percolation Trench | 11,025.00 | 11,025.00 | | |
| 10 | Asphalt Rubber Aggregate Membrane (ARAM) | 8.00 | 192,000.00 | | |
| 11 | Type II Emulsion-Aggregate Slurry | 3.50 | 85,750.00 | | |
| 12 | AC Curb Seal | 2.88 | 4,608.00 | | |
| 13 | Pavement Delineation & Striping | 34,859.80 | 34,859.80 | | |
| 14 | Release on Contract | . 1.00 | 1.00 | | |
| | TOTAL | | 455,120.00 | | |
| | | | | | |

Copies: Director PWA, PM:Pete Wessel, Yvette Perez, ESI

Spec. No.RD19-07 Project No. 50582

/ PROPOSAL

Contractor's Name All American Asphalt

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

| Name of Subcontractor | Contractor's License Number | Business Address | Items of Work |
|--------------------------------|--------------------------------|---|---------------|
| American pavement systems | 943972 | 1012 11th st, Modesto 0A- 95354 | 1697, 10697, |
| CL SURVEY 3 mapping | LS8231 | 1269 Pomona Rd. ste 108 corong ca | 4-8(p) |
| J&S striping comp- any inc. | 538211 | 1544 S. VINEYARD AVE ONTARIO, CA 1701 | 13 |
| | | | |
| | | | |
| | | | |
| | | | |
| (4) | | | |

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

(a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.

(b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 30 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.

Spec. No.RD19-07 Project No. 50582

PROPOSAL

Contractor's Name Manhole Adjusting Inc.

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104,

| Name of Subcontractor | Contractor's License Number | Business Address | Items of Work |
|--|--------------------------------|----------------------|--|
| Pavement Continos Compeny | 303609 | Jutipa Valley, Ca | Iten land 2 (portion) Iten 11 |
| Company Tora General Engineering Cat Stripe | 710580 | Oxnarch, Ca | Item Land 2. (portion) Items 4-9 |
| | 685387 | Cattorn grading and | Itom 13 |
| sas striping | 538211 | Ontario, Ca | Itam 13 |
| | | | |
| | | | |
| | | | |
| 5 | | | |

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

(a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.

(b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 30 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.